Q-1

Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2018

Subject Name : Compulsory Accountancy-I|

Subject Code : 4CO01CAC?2

Semester : 1 Date :03/12/2018 Time : 02:30 To 05:30 Marks : 70

Branch: B.Com (Gujarati)

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

d)

f)

9)

h)

Attempt the following questions: (14)
UELAL 2oy Avtd UElAL AL AdL 4515 A5l 221l 97 1
(a) 5l A5l AL A (b) Yel: HEIS VLA (C) Aslesld vld (d) 2umidl 5196 S
ALy quid Masdl, oralotelzil e HEL vidl oiH 52l 541 vid Al 97 1
(a)<15l 45l SAUAL ULd (D) Yel: RIS Wid (C) AslsUlad vid (d) dl Uzl viid
oyl UZlAl 21U 20260 AHA AL DM A=Al ol1Sld] gl Hi2 20 el 2dul 1
AdAlHl vH19, €97
(@) HélL UHLBIH (b) Slsa2l4L uHLRM
(C) YL A5l AsHLAAL UHIAHI (d) sl s2UHL 2UAL UHIEHI
AL AHIAAL [SUIUHL BEMAD, DARAIHLA 45l 2AL LA GHIRIA 897 1
(@) 2us(dal vild (D) AALAHIA YId (C) sl sl Wid  (d) HidHel viid
w2, 2u8laan uz dvdl Gl 21slanl 24lsiz Az Hidaplldr UMl £ wid sl 1
291 ?
(a) vlsdHid vid  (b) @pll él viid () gl viid  (d) el $él viid
282l HIG A=AL HISAR S1D AR d HId-L 254 QAL AWML 2L HLd GHIRA 897 1
(@) isfdL vid (D) 2Usd HIA vId (C) AL HIsAE Hid vild (d) 418 vid
20214l HHL HI2 A1l Higl 2 [Aeq, w1 972 1
(a) Qiotvloudl 45l (b) 25 20 (c) dio s (d) Ailetldl siel oy ul
2191 Vg 5L Sy 97 1
(a) AUIR VLAl 6¥G (D) <l Midi 69 (C) AUIR Bhel A3l A5l 6d (d) W5t AP o7
6412 202Lell D 2L [GRU6E] 2AIULL AMIAHT DAL SIS AR A2 HIZ Z5AEL W 1
() “As5d o5 vl o4l (b) M2 vid sxHL (C) FRILELR vild GEIRLAL (d) 202 Uld 6741
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K)

Ul @Ra 251 vt YUz 220 422l dslad AL GHIRAIME 219 £97?
(@) 4.20.4L.UL Mid (D) .o id (€) A 2.4l UL 2tAMA vid (d) Suelleizidl $élvud

245d A dlHL difazdld alis Wl 15000 9 2id 2204t 9t 9 dl Hidlanal-l
B4

(a) 44 (b) 7500 (c) 515 s (d) 15000

Ul 98l viE ol Aiaiml 1A AR |IRA Ul 22 v a9
(@) widlzdl viid  (b) AUz wid (c) ylsilan vild
[sulofl AlzmL < 3 ...

(@) wWadld Hetis4  (b) Ussuals Uats  (c) Dedild Hetis4  (d) Masdid s
215245 i UisL A usgl adl a2l W2 [uloll dizel oz,

(d) 5l A5l VA

(a) 1 (b) 2

(c)3

(d) 4

Attempt any four questions from Q-2 to Q-8

Q-2

(@)
(b)

Attempt all questions
HIAHR(lAL AU 6733 2UHAIA QUi

Gdd 2 (RAQ ARl U2l 2: 10 untami dz ([Ri6l 244 2l axedl uélui 3:1-0

UHLBIHL A5l 452l 462 69, ol ULl Ulsl U321 (12 Howot €9,

Hél ai ddd 2 | [Qaudl Masd dni Sdd 24 | [Qudl
Mda 24 4l Mda ud H1sfl
Gdd 60,000 5[z 28,000 | 32,000
[da 48,000 22ls 40,000 | 52,000
[zl 80,000 | FAIELl 48,000 | 60,000
asil 40,000 | @rilédl 16,000 | 24,000
AHLA DALHA 24,000 40,000 2158 52,000 56,000
5121012 2A52H1d 12,000 | 8,000
@3l
SIAE 40,000 | 56,000
1,84,000 | 2,24,000 1,84,000 | 2,24,000

ol Ul oy 571 «Adl Ul 2audld sl s2Aml 202, A4alsr-l 22dl {12 Horor edl.
1. oid UElAL 5[l (5Hd 10% a2lel 524l 2. oid UZlL 2215<ll [5HAHI 20% 94131 5241

3. FAUEIRL U2 10% sV 2iiHd AR 4. 3dd 2 [Hdd<l wadldl End24,000 214

(216l 24 Asilell wiaéldl (54d 64,000 awdl. 5. sdd 244 Mda-dl dpllgél sdd 10% i)

(5d vilz 9. 6. [aR1ell Asildl uZll aplgdl 4dl wglni 25% el [Ead caianl .

- e, UZLAL AUSIML A5l 4520 SAUAL WId 24 leiRidl HElUUAL otaldl 244 UEld wig

U, 11l

AReg AL CUAIE, DHEALZAL eALUHA dl. 1-4-201 1L sy 20 HielHe 50003.

<Al @[l (Bud vligddl AaalL Hisetl ugdr [5Hd U 25% <5l Asldld @Rl [G1d
55l 521 UYL 9. HIG HISAAL <42 2 dlH1AL 3. 1000 Y5l Al

UN g
,}
D v

1..

A 1\9“

(14)

14
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(a)

dl. 1-4-20114L 257 olofdld dA2H, U= 3.50,000] 4 Wil Yrd<dl s Gél avil

el o8 Ad2uH 241512l d3dsy ud 53 el daAAH 2 GEL Al 4-5-2011 1 Usy GisH]
AU 12%-lL £2 oisHi 214l wdl.
AALUH 5% AL UM 248, 2l 2% QUL DAL DU HAAAL $55812 69,

AEBURIA, del ALVl sl 10% QU gl ML WEL DUUALAL 89,

dl.31-3-2012¢l1 2U5¥ YeALAIH A=A Aissl el AUl Wil Qufl 254l ols gls2
Hisall 240wl : - (1) dBL sys1dl 3. 400, az0u91AL dlHL UHPAHAL 3. 600 244
ME2UAAL 3. 1500 A5l gl (2) 10 HIGUHA 225 3. 5500+l [51d s34l 4241 g,
(3) 5 HislDa £25 3. 600-(l [5Hd Haddldd GHIR 42241 ¢l
(4) HEAAUE AUEI2 M2 2L el Al Wl 3 40 Ul @t 2umzl (A aua
25 4z, (5) AL e Rl ALGAHT iRl 1 HIGUSE HAUBL Algl WAl 24 1L
SUeilal 37501 £1dl 2451l Al. (6) <l darial HiosHa sl ol HIsHAA 45Ul Adi
3.650 AHIRSIH W3, 2l SiElsy €9,

Guzil [Ao1dl uzedl slLsdHIA ViLd 24 2418 (AL, VL oAl

Attempt all questions
W90l Bl WFHL ol AL HAIML 245 ULSUHT o011 dBiL 3121 UHIBIHL A5 L5led

A QAL UHA 2L, dolil 2154 3.1,20,000 24 1,80,000 GisHi SrHL 5214,
A4izt 3000 2 4122 oxdil-dl 215 1qiz,dl.Hl22-l 3.9001 MId vRlEL. dutil |2
Yoyoiel WAl AA5d 6ls VLML 252 gl 1.208xw2a4 Alsy — 1,20,000 2. 224\

$12l = 72,000 3. 51l udiesizHl 51 — 12,000 w20 w1l - 37,500

ol el LAlZ QAL DL 25 Lalld oLl 2L Ll Yol 58 664l 20% @10
MER Al HI2 i 10% UL MR olofl2ll HIZ 5160@ AMAML UL 24 ouSl]
rHledell USUVAL FUIAAL 15 ULLAHL 2424 Uil 21y {2241 3.1650 @14 10

1@z, o151l vellz WrHI 3.18001 *id g2l €141 old @fle 428 U2 5% s«

Hoal wsselz 9. AUR 3 1. AU vild 2. ¥l vidi 3. :AYsd 6ls vud
202l vldiedl Hel 24,

Attempt all questions
[slofl AR A -3 2058 UAls UAs UHAAL.

[0l B0 d — 2 Sedezzld HeAis UHMAl,

VUEL il Alet 3: 26U UHIBHE el 2l 24 SVl UHIBME 5L 452004 ASAAL 6L Aile1]
UglaAmi euelleizl 9. duiizd @ileil Uglzid sy 53, dldiam 2ea-dl wamdl 5.
A2l Ul wist ARl

Hél 2ai

ULl 24
Al

sl w4
Sl

Masd dai

U] 24
Alel

sl 24
gwil

Hel : wfl

1,20,000

syl

70,000

50,000

Alell

1,00,000

slaar

15,000

12,000

2l

1,10,000

51

20,000

17,000

o
rfp‘ N
o T 2

—>

(14)

(14)

14
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Q-8

(a)
(b)

(a)
(b)

vl

22ls

74,000 57,000 | 65,000
A4 vildi: 2zl | 10,000 ZAIEIRL 71,000 65,000
Al 6000 st 15,000
QIR 54,000 | 56,000 |°ts [Rids 42,000 | 31,000
2,90,000 | 2,40,000 2,90,000 | 2,40,000

AAlsyefl Wl 1 1) gl AL, 8l 214 Wil g sl sl Al un 6:5:5:4
264, 2) dl ugl-l 58 4él 3. 4,80,000 6 Adl A5l suleadl WHRML Al
3) &l 2 gl Ul oxdile 2idisr usai 3. 70,00041 441, sy<{l Glusy «dl uglui

vl 4) 2412l 2 Al wiadl 3. 40,000 244 3l 244 $ul<l wiendl 3. 30,000 ssl

52914 21l 5) suglst st 3. 1200040 dlai. 6) sid UZl Hiz aidva] srlatas
254 3. 4000 vi 3. 5000 524l ol UZldL AREIRL 2.5% <AL A0ldzel 44l Uél Q4.
7) oid UZldl z2ls 10% 214 «dl uél asl.,

- 6] U&l-L ALU3 o¥33] vlldl ot-dl.

Attempt all questions (14)
A45d A dlul Uil 2124 9 ? A<l sr3(a1d Al 7
[oll, HIAA 24 AULE DAAsH 2:1: Tl UHIBIHL 451 45Ul AL ddl @ilelzl 9. dl. 7
1-1-2011<lL sy dAHBL 3. 1,50,000+(] A42454 A dlul U@zl elledl. A aulis sl
3. 15,000 £9. UZl-l Au2 wilail vitd 220 4et [5Hd calladimi 2ud 9. UZld [suieil
A dl. 314 [S%0121 2oy U 214 €9, oyel syl Al AW UL {12 Hoyod Sd.:
ay 2011 2012 2013 2014
2R0MEUAL M : U 3,000 9,000 18,000

dl. 10-2-2015¢11 26y dAULE, 24414 UL A2l dl. 10-3-2015¢11 25y dlHL su-l
dzg?l ol ulcd 3. 1,75,000 2AsAAIHL 1241, ULl ATUS dAUIR $2:
1. A5d A dluL el vid 2. 2645d @A dlH dif@zil siamd vid
Attempt all questions (14)
245 A dlHL ULQLAL 2aMA vdl Aol usad qumal. 7
219, Biel BUSAHIE 922, d51Ad 2L, 7
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